1 Active Clauses

(C9) F mo+(((k#(lo+(1+1)))+ (Lo (mo-+1)))+1) = kot ((k-+(mo+1)) (lo-+1)
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2 Subsumed

(C1) 1+ (o +1) = 1 F by (A13)

C20) 0 < po I (g0 * Po) + (10 * Po) = (g0 + 70) * Po by (A23)

C21) 0 < po I (o + (g0 * Po)) + (0 * Po) = 0 + ((go * Po) + (r0 * Po)) by (Al)
C29) 0 < ip,0 < po,ip < Po,io + (g0 *Po) = 0+ (ro *x po) - by (A29)

C30) i0 < 0,0 < po,io < Po, %o + (qo * Po) = 0 + (10 * po) |- by (A28)

(33) 0+ 1 < poF 0 < po by (A34)
C34) FO+1=1 by (A6)
C47) Fmg =1, 84(mg) * s1(mg) = s1(myg) * s4(mg) by (Al4)
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C31) Fip=0,ip < 0,0 < iy by (A30)
)
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C48) +mg = 1,0+ (sa(mo)  s1(mo)) = s4(mo) * s1(mo) by (A6)
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Ch4) tg = po = 0+ (ng * tp) = ng * to by (A6)

3 Clauses with Tautologies

C2) naty + (natz + 1) = 1+ nata + (natz + 1) =1
C3) naty =1Fnats =1

C5) nat; = nats + (nats * (natg + 1)) - nat; = nats + (natg * (natg + 1))

C6

(C2)
(C3)
(C4) nat; =1F nat; =1
(C5)
(C6) nats =1F nats =1



)mog+(no+1)exkFmo+(ng+1)ex
) mo+ (no+1) =k+ (naty*(lo+1)) F mo+ (no+1) = k+ (naty * (lp + 1))
JkeaxbFkex
) naty; =1F nat;; =1
) nat1; = natg + (nat1a * (nat1p+ 1)) F naty; = natg + (nati2 * (natio + 1))
) natg =1 F natg =1
)ng=1Fng=1
)ng=1Fng=1
) natag = 0 + (natag * po) - natag = 0 + (natzg * po)
) nateg = nataz+ (nater* (nates +1)) F nates = natas + (natar * (nates +1))
) nataz = 0 + (natay * po) - nataz = 0 + (natay * po)
) 0 < Ppo,to =10+ ((g0 +70) * Po) - to =io + ((q0 + 70) * Po)
) 0 < po,mo =i + (o * Po) - Mo = 40 + (g0 * Po)

C23) 0 < po,io =0 ig =0
) 0 < Ppo,io < Po I io < Po
) to =0 + (g0 * Po) - to = 70 + (qo * Po)
) 1<pob1l<po
) natig = po I natig = po
)
)
)
)
)
)
)
)
)

natig =1+ natig =1

tozpo,mozl}—mozl

mo = 0+ (natie * po) - mo = 0+ (natis * po)



4 Clauses with Reflexivity

(C40) F po = po

(C45) Fmo = 1,mo = mo
(C56) F po = po

(C7) F1=1

5 Explicit Axioms

(A1) F(k+0) +m=k+ (I +m) (subsumes 1 clause)
(A2) Fh+1=1+Fk

(A3) Fk+(l+m)=(k+1)+m

(Ad) k+l=k+mkl=m

(A5) FE+0=k

(A6) F O+ k = k (subsumes 3 clauses)

(AT) k+l=m+1Fk=m

(A8) k=l+kr1=0

(A9) k=Fk+1F1=0

(A10) k+1=FkF1=0

(All) k+l=1Fk=0

(A12) k=1Fm+k=m+]1

(A13) 1+ (k+1) =1+ (subsumes 1 clause)
(A14) b k1 =%k (subsumes 1 clause)
(A15) k+1=0F

(A16) Fk* (Lxm) = (k1) *m

(A17) F (k%) % m = k* (I m)

(A18) Fhk+1=k

(A19) F1xk =k

(A20) FEkx(l+m)=(kxl)+ (k+m)
(A21) F (k+1) xm = (k*m) + (I +m)
(A22) F (kxl)+ (kxm)=kx(m+1)
(A23) F (kx1)+ (m=1)= (k+ m) =1 (subsumes 1 clause)
(A24) H (k«)+k=kx(l+1)



F+Dsm=({xm)+ (k+m)

1=Iixktk=1

1=kxlFk=1

kE<lk<m,l<m.k+ (i*xm)=1+(j*m)F (subsumes 1 clause)

kE<lk<m,l<myl+ (ixm)=Fk+ (j*m)F (subsumes 1 clause)

(A25)

(A26)

(A27)

(A28)

(A29)

(A30) Fk =1k <1<k (subsumes 1 clause)
(A31) FO<k+1

(A32) 1<k 1=1Ixkt

(A33) 1<k k=1F

(A34)

n+1<mkbtn <m (subsumes 1 clause)



